

2022-2023 NIC-10 Varsity Boys

Tuesday 4:00 PM

Lanes 1 - 10

Standings and more: High School Bowling section of www.Bowl815.com
 League Secretary ID: 130280 Lane Pattern: House

USBC Certification: 110422

Team Standings

Place	#	Team Name	Points Won	Points Lost	Team Avg	Scratch Pins	High Game	High Sers	Place	#	Team Name	Points Won	Points Lost	Team Avg	Scratch Pins	High Game	High Sers
1	6	Harlem	9	0	1313	35424	1507	4184	6	1	Auburn	4	5	1084	29023	1204	3386
2	4	Hononegah	7½	1½	1298	34640	1401	4054	7	7	Guilford	3	6	1130	30925	1314	3842
3	3	Belvidere North	7	2	1207	32408	1293	3680	8	10	Jefferson	2	7	1074	28905	1174	3465
4	9	Freeport	6½	2½	1194	32273	1289	3816	9	8	East	1	8	1027	27524	1172	3376
5	2	Belvidere	5	4	1191	32087	1418	3891	10	5	Boylan	0	9	919	26566	1177	3127

Review of Last Week's Bowling.....

Lanes	Team Name	-1-	-2-	-3-	Total	Last Wk WON	Team Name	-1-	-2-	-3-	Total	Last Wk WON
1-2	Auburn	1161	1134	989	3284	0	<---> Hononegah	1302	1276	1263	3841	1
3-4	Belvidere North	1046	1188	1249	3483	1	<---> Guilford	1135	1190	1132	3457	0
5-6	Boylan	829	922	931	2682	0	<---> Freeport	1283	1249	1284	3816	1
7-8	East	1099	1172	1105	3376	0	<---> Jefferson	1174	1171	1120	3465	1
9-10	Harlem	1315	1331	1392	4038	1	<---> Belvidere	1191	1418	1282	3891	0

Season High Scores

Scratch Game	1507	Harlem	1418	Belvidere	1401	Hononegah
Scratch Series	4184	Harlem	4054	Hononegah	3891	Belvidere

Bowlers must have completed a minimum of 1 games to be eligible for any league award.

Scratch Game

300	DEVAN SKRIDLA
299	BRAYLAND CARPENTER
289	GARRETT CLAYTON
289	CHARLES HUNT
288	JORDAN WILLIAMS

Scratch Series

795	CHARLES HUNT
780	DEVIN TITUS
756	DEVAN SKRIDLA
750	DAKE TITUS
749	BRAYLAND CARPENTER

Team Rosters

1 - Auburn

Name	Pins	Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total
TIMOTHY NABORS	3522	23	153	225	560	225	184	151	560
TEVIN TENNIAL	4244	27	157	228	617	176	140	139	455
LUKAS MARINELLI	5138	27	190	231	654	183	194	190	567
KADIN HORTON	5468	27	202	255	717	161	255	153	569
MICHAEL DOBBS	4946	27	183	246	602	203	191	190	584
TYLER ZOMOK	4196	21	199	244	679	213	170	166	549
GIAN SASAN	563	4	140	166	434				0
EVAN ANDREWS	946	6	157	189	521				0

2 - Belvidere

Name	Pins	Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total
WYATT ANDERSON	5495	27	203	256	654	199	212	184	595
CHAD MORGAN	5286	27	195	254	676	224	254	198	676
JOHNNY CARTER	5415	27	200	253	668	195	227	246	668
KYLE LUND	4519	24	188	256	648	202	225	185	612
ANDREW DINI	4163	21	198	265	679	168	246	265	679
JAMES WATSON	5608	27	207	254	717	203	254	204	661
IAN MYERS	508	3	169	191	508				0
NIKO MYERS	1093	6	182	213	578				0

Tuesday 4:00 PM

Lanes 1 - 10

3 - Belvidere North

Name	Pins	Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total
SAMUEL MORAN	5951	27	220	277	738	182	195	194	571
CALEB ALLEN	4759	26	183	256	626	138	232	256	626
JUSTIN CURTIS	5199	24	216	279	706	211	167	212	590
DOUG DEMPSEY	3890	21	185	267	604	180	215	209	604
JACK DICKERSON	4517	24	188	245	595	176	157	181	514
NATHAN PERKINS	5816	27	215	279	694	159	222	197	578
JAYDEN CURTIS	1809	10	180	229	567				0
BRYCE KENNDY	467	3	155	211	467				0

4 - Hononegah

Name	Pins	Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total
GARRETT CLAYTON	1290	6	215	289	735	214	232	289	735
CHRISTIAN BAUER	5766	27	213	266	706	191	221	194	606
CHARLES HUNT	6327	27	234	289	795	244	203	194	641
JACK REED	5827	27	215	279	727	215	188	190	593
JORDAN WILLIAMS	5247	25	209	288	716	184	198	196	578
LOGAN MOORE	5724	27	212	268	688	254	234	200	688
CALEB DIRKX	1618	8	202	255	637				0
LUKAS PETERS	1097	6	182	211	553				0
ANTHONY KIELY	1602	8	200	278	534				0
JOSHUA LAWRENCE	142	1	142	142	142				0

5 - Boylan

Name	Pins	Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total
KEVIN CLEMENS	4046	24	168	267	586	179	170	194	543
JAMES JORDAN	2613	18	145	224	540	164	127	138	429
CONNOR KNAUF	4787	24	199	266	628	174	160	192	526
MAX MONTOYA	1861	14	132	202	385	115	151	112	378
JOAQUIN GAHAN	2216	15	147	177	509	96	141	167	404
VICENTE CAMPA	1280	10	128	173	436	101	173	128	402
LUKA CARAVELLO	2853	20	142	193	519				0
ALEX HORTON	4226	21	201	246	636				0
RONAN MURRAY	2684	16	167	215	558				0

6 - Harlem

Name	Pins	Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total
BRAYLAND CARPENTER	5384	24	224	299	749	169	200	246	615
DAKE TITUS	5151	24	214	258	750	236	256	258	750
RYEN APGAR	6170	27	228	279	739	180	247	236	663
JERRY SIMMONS	5833	27	216	268	705	268	227	210	705
DEVIN TITUS	5901	27	218	279	780	267	192	225	684
BRADEN SCHULD	5771	27	213	258	739	195	209	217	621
ZANDER CARPENTER	568	3	189	238	568				0
JUSTIN HENREY	646	3	215	222	646				0

7 - Guilford

Name	Pins	Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total
KORBYN SANDERS	1100	5	220	256	682	193	225		418
ELIAN ALTAMIRANO	3574	20	178	257	646	152		200	352
JOB SALBERG	3258	18	181	240	622	201	173	173	547
NICK REEVES	4672	26	179	247	631		163	169	332
MONYAE MORROW	4866	27	180	225	578	202	169	163	534
DRAKE OLSON	5192	27	192	242	651	198	217	181	596
DEVAN SKRIDLA	6101	27	225	300	756	189	243	246	678
CADE IVERSON	2162	12	180	214	587				0

Tuesday 4:00 PM

Lanes 1 - 10

8 - East

Name	Pins	Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total
MICHAEL SPRAY	5166	27	191	255	643	236	201	198	635
LEONARDO SANCHEZ-MAR	2613	18	145	194	469	117	194	158	469
BRYSEN VONGPRASEARTH	5328	27	197	266	717	214	242	219	675
CHRISTOPHER BUSHAW	3525	21	167	235	613	191	147	186	524
PEDRO CLEMENTE	872	6	145	172	446	156	168	122	446
KAMRYN PFEIFFER	4928	27	182	222	627	185	220	222	627
QUINN ELLSON	2053	15	136	199	462				0
JUAN ALFARO	2227	15	148	191	473				0
GAVIN SULLIVAN	812	6	135	157	439				0

9 - Freeport

Name	Pins	Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total
KAMDYN RAYMOND	5650	27	209	278	673	214	181	278	673
CHARLIE WIEDMEYER	4196	22	190	225	623	189			189
PAYTON WOKER	5504	27	203	275	732	213	205	242	660
CONNER LAMM	397	2	198	206	397		206	191	397
WILL SCHNEIDERMAN	5347	27	198	257	703	257	256	190	703
RYAN KNAACK	4920	25	196	256	695	185			185
RYAN BOLAND	5359	27	198	258	688	225	199	191	615
KADEN VANDEBERG	900	5	180	202	506		202	192	394

10 - Jefferson

Name	Pins	Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total
TAVEN GIBBS	3773	21	179	240	638	184	195	172	551
DEVON RICE	4438	27	164	215	566	156	194	167	517
GAGE ODUM	4999	27	185	269	662	223	172	267	662
TYLER THOMPSON	5089	27	188	249	664	229	249	186	664
TREVOR KROMINGA	4443	24	185	279	687	198	184	148	530
JACOB THOMAS	4680	27	173	236	587	184	177	180	541
JAYKOB WADSWORTH	1483	9	164	197	527				0

Average List of All Members of This League

Name	Pins	Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total
CHARLES HUNT	6327	27	234	289	795	244	203	194	641
RYEN APGAR	6170	27	228	279	739	180	247	236	663
DEVAN SKRIDLA	6101	27	225	300	756	189	243	246	678
BRAYLAND CARPENTER	5384	24	224	299	749	169	200	246	615
SAMUEL MORAN	5951	27	220	277	738	182	195	194	571
KORBYN SANDERS	1100	5	220	256	682	193	225		418
DEVIN TITUS	5901	27	218	279	780	267	192	225	684
JUSTIN CURTIS	5199	24	216	279	706	211	167	212	590
JERRY SIMMONS	5833	27	216	268	705	268	227	210	705
JACK REED	5827	27	215	279	727	215	188	190	593
NATHAN PERKINS	5816	27	215	279	694	159	222	197	578
JUSTIN HENREY	646	3	215	222	646				0
GARRETT CLAYTON	1290	6	215	289	735	214	232	289	735
DAKE TITUS	5151	24	214	258	750	236	256	258	750
BRADEN SCHULD	5771	27	213	258	739	195	209	217	621
CHRISTIAN BAUER	5766	27	213	266	706	191	221	194	606
LOGAN MOORE	5724	27	212	268	688	254	234	200	688
JORDAN WILLIAMS	5247	25	209	288	716	184	198	196	578
KAMDYN RAYMOND	5650	27	209	278	673	214	181	278	673
JAMES WATSON	5608	27	207	254	717	203	254	204	661
PAYTON WOKER	5504	27	203	275	732	213	205	242	660
WYATT ANDERSON	5495	27	203	256	654	199	212	184	595
KADIN HORTON	5468	27	202	255	717	161	255	153	569
CALEB DIRKX	1618	8	202	255	637				0
ALEX HORTON	4226	21	201	246	636				0
JOHNNY CARTER	5415	27	200	253	668	195	227	246	668
ANTHONY KIELY	1602	8	200	278	534				0

Tuesday 4:00 PM

Lanes 1 - 10

Name	Pins	Gms	Avg	High Game	High Sers	-1-	-2-	-3-	Total
TYLER ZOMOK	4196	21	199	244	679	213	170	166	549
CONNOR KNAUF	4787	24	199	266	628	174	160	192	526
CONNER LAMM	397	2	198	206	397		206	191	397
RYAN BOLAND	5359	27	198	258	688	225	199	191	615
ANDREW DINI	4163	21	198	265	679	168	246	265	679
WILL SCHNEIDERMAN	5347	27	198	257	703	257	256	190	703
BRYSEN VONGPRASEARTH	5328	27	197	266	717	214	242	219	675
RYAN KNAACK	4920	25	196	256	695	185			185
CHAD MORGAN	5286	27	195	254	676	224	254	198	676
DRAKE OLSON	5192	27	192	242	651	198	217	181	596
MICHAEL SPRAY	5166	27	191	255	643	236	201	198	635
CHARLIE WIEDMEYER	4196	22	190	225	623	189			189
LUKAS MARINELLI	5138	27	190	231	654	183	194	190	567
ZANDER CARPENTER	568	3	189	238	568				0
TYLER THOMPSON	5089	27	188	249	664	229	249	186	664
KYLE LUND	4519	24	188	256	648	202	225	185	612
JACK DICKERSON	4517	24	188	245	595	176	157	181	514
DOUG DEMPSEY	3890	21	185	267	604	180	215	209	604
GAGE ODUM	4999	27	185	269	662	223	172	267	662
TREVOR KROMINGA	4443	24	185	279	687	198	184	148	530
MICHAEL DOBBS	4946	27	183	246	602	203	191	190	584
CALEB ALLEN	4759	26	183	256	626	138	232	256	626
LUKAS PETERS	1097	6	182	211	553				0
KAMRYN PFEIFFER	4928	27	182	222	627	185	220	222	627
NIKO MYERS	1093	6	182	213	578				0
JOB SALBERG	3258	18	181	240	622	201	173	173	547
JAYDEN CURTIS	1809	10	180	229	567				0
MONYAE MORROW	4866	27	180	225	578	202	169	163	534
CADE IVERSON	2162	12	180	214	587				0
KADEN VANDEBERG	900	5	180	202	506		202	192	394
NICK REEVES	4672	26	179	247	631		163	169	332
TAVEN GIBBS	3773	21	179	240	638	184	195	172	551
ELIAN ALTAMIRANO	3574	20	178	257	646	152		200	352
JACOB THOMAS	4680	27	173	236	587	184	177	180	541
IAN MYERS	508	3	169	191	508				0
KEVIN CLEMENS	4046	24	168	267	586	179	170	194	543
CHRISTOPHER BUSHAW	3525	21	167	235	613	191	147	186	524
RONAN MURRAY	2684	16	167	215	558				0
JAYKOB WADSWORTH	1483	9	164	197	527				0
DEVON RICE	4438	27	164	215	566	156	194	167	517
EVAN ANDREWS	946	6	157	189	521				0
TEVIN TENNIAL	4244	27	157	228	617	176	140	139	455
BRYCE KENNDY	467	3	155	211	467				0
TIMOTHY NABORS	3522	23	153	225	560	225	184	151	560
JUAN ALFARO	2227	15	148	191	473				0
JOAQUIN GAHAN	2216	15	147	177	509	96	141	167	404
PEDRO CLEMENTE	872	6	145	172	446	156	168	122	446
LEONARDO SANCHEZ-MAR	2613	18	145	194	469	117	194	158	469
JAMES JORDAN	2613	18	145	224	540	164	127	138	429
LUKA CARAVELLO	2853	20	142	193	519				0
JOSHUA LAWRENCE	142	1	142	142	142				0
GIAN SASAN	563	4	140	166	434				0
QUINN ELLSON	2053	15	136	199	462				0
GAVIN SULLIVAN	812	6	135	157	439				0
MAX MONTTOYA	1861	14	132	202	385	115	151	112	378
VICENTE CAMPA	1280	10	128	173	436	101	173	128	402
JIMMY WALTON	0	0	0	0	0				0

Temporary Substitutes

2022-2023 NIC-10 Varsity Boys

Tuesday 4:00 PM

Lanes 1 - 10

<u>Name</u>	<u>Pins</u>	<u>Gms</u>	<u>Avg</u>	<u>High Game</u>	<u>High Sers</u>	<u>-1-</u>	<u>-2-</u>	<u>-3-</u>	<u>Total</u>
JIMMY WALTON	0	0	0	0	0				0